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Ins(tructions:
1. Question No. 1 is compulsory.
2. Make suitable aSsumptions wherever necessary.
3. Figures to the right indicate full marks.
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Marks
Q.1 (a) What is the Turing Test? Explain its significance in the context of Artificial 05

Intelligence. R '
&R 22 g B2 Al ol e elul Ao Mo AL

(b) What is the State Space Search Problem in AI? Explain the two types of search 05
techniques in brief.
(AT i 2 AU 1A We@U 9 B2 A ysiell Nt cdsollal AR Ui wnedl. )

(¢c) What is Artificial Intelligence? Explain the different types of application in 10
artificial intelligence with example.
URBRAUA 8@ g B2 ATl QRY UsLel GU]N GELEAN WA AU L)

Q.2 (a) Explain Hill Climbing algorithm. What are the limitations of this method? Hill 05
Climbing.
(AUENRUH 1A U Aoll Halelxll g & A uy SRQUA.)
(b) Explain Uniform Cost Search with an example. Also solve the graph given to show 05
the path it will choose. - :
(AL Sl AL o, Gelpael WA unedl, WA s GEA U ol 3 52wl uaie

$39.) (Initial state — A, Goal state - G)

, OR
(b) Justify why bidirectional search is efficient for certain problems, Explain with 05
example.

, (eclls Al WA Gretal R U setetct A2 siedapy 3x HieleHi 21 B, GELeREL
UA YHndl.)

(c) Apply the A* sparch strategy to solve the given graph and find the 10
optimal path from the start node to the goal node.

A A5l Bhetaw W2 A* AL 2% Al 5 2 2218 s ol Nt olls Yol Arg
1ot tll.) (Start state- a & Goal state-z)



(c)

Q.3 (a)
@
(c

Q.3 (a)
(b)

(c)

Compare BFS and DFS. Explain any one in detail with example.
(BFS %A DFS ofl detell 5. Sleugt Asal GeleQL A @tttz dHA)

Differentiate between A* algorithm and AO* algorithm with suitable examples.
(A* AU AO* ANRUH 2 dslelet 5 uUA AL GELEEN UML)

How does a DAG help in structuring a Bayesian Network?
(ARt eus ofl 2usuMi DAG 3ell id HEE 52 BY)

In a Bayesian Network with binary nodes, if P(Rain)=0.2, P(Sprinkler/Rain) =0.01,

P(GrassWet|Sprinkler,Rain)=0.99, find P(GrassWet) using marginalization.

(Ul AsH  HRlddl AARA zasdHi, P(Rain)=0.2, P(SprinklerRain) =0.01,
P(GrassWet|Sprinkler,Rain)=0.99 82t 4 marginalizationoll GU2LL2L 53lal P(GrassWet) 2ltl.)

Compare exact and approximate inference in Bayesian Networks.
(AARaet Az sl exact A approximate vojHetell getott 52L.)

What is Wumpus World in Artificial Intelligence? Explain briefly.
AURBRAA Be2@osodt M ciu acd g B? uxecl)

What is fuzzy logic? List its characteristics, advantages and disadvantages.
(590 ARs 9 B? Aoll cllal@lstl, SLUAEL A AR SLAELAl ALE] eloticl)
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